
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/May22/1 All prices ex GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 

AUSSIE GMP PUMPS:  

Position 
Number 

Part 
Number Qty Description List price 

01 F407 1 Complete pump body   

01a 5571 1 Pump casing B2KQ-A $922 

01b 8923 1 Valve B2KQ-A/ST  $212 

01c 8929 1 Inspection Door  $84 

01d 6012 1 Complete check valve $56 

01e 8935 1 Gasket Inspect. Door  $24 

01f 6186 1 Flex. Washer 33x39x2  $8 

01g 6213 1 Conical Tap 1” Gas  $8 

01h 6209 1 Conical Tap ¼” Gas  $7 

01i 6236 4 Screws  

01l 8976 2 Grub Screw M10x50  $12 

01m 8975 2 Complete Pin M10  $58 

01n H796 3 Screw M5 x 10 $5 

01p H910 1 Complete stainless Steel Wear Disc  $69 

B2KQ-A/ST HYDRAULIC MOTOR 
Cat AA6U 

REJUVENATION KIT  … SAVE ON BUYING INDIVIDUAL PARTS 

GREJK-B2KQ-ST2KW 
(R516) 

Includes check valve, mech seal, 
counterface, filling cap & trash port gaskets 
(components highlighted in yellow) 

$224 

Position 
Number 

Part 
Number Qty Description List price 

02 F103  1 Impeller B2KQA/ST 2HP  $321 

03 P322 1 Complete Support poa 

03a 5380 1 Support Poa 

03b F108  1 Shaft with Bearing  $211 

03c 5255 1 Elastic coupling D.40 $304 

03d P162  2 Grub Screw M10 x 45 $12 

04 6346 1 Counterface S 5645  $33 

05 6781 1 Mech. Seal 16-32-13  $208 

06 6029 1 Flex. Gasket B 2618  $9 

07   1 OR   

08 6235 4 T.E. Screw M 10x18  $3 

09 9283 2 Protecting Network  $12 

10  4 Screws  

12 6164 4 Washer D.8x14x2  $2 

13 5113 4 screw   

14 P736 1 Hydraulic motor $1,830 

15  1 Hydraulic fitting  




